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PRIVATE 
Money and Banking


Problem Set 5
(all figures in billions of dollars)
January 15, 2013 - 10 points
** Answer the following questions showing all of your work for full marks.


C = 550 + 2/3 YD



C:
Consumption Expenditures


YD = Y - T




YD:
Disposable Income


T = 120 + 0.1 Y




Y:  Personal and National Income

I = 300 - 400 i 




T:
Total Tax Revenues


G = 550




I:
Investment Expenditures


x - m = -166




G:
Government Expenditures








t:
tax rate








i:
Interest Rate

1) Write out the goods market equation (Nominal GDP = …) (3 pts)
2)  Assume the interest rate is 7%, what is nominal GDP? (2 pts)

3) Calculate the tax revenue – what do we call “0.1”?  ( 2 pts)

4) Calculate the amount of public savings and indicate if the budget is a surplus or deficit.  (3 pts)

5)
Calculate the amount of private savings and foreign savings (verify that Investment equals Total Saving).

